
∆𝑨𝑩𝑪 is a right-angled triangle with 
hypotenuse BC. 𝑩𝑸𝑪 is a semi-circle, 
away from A, with diameter 𝑩𝑪. 𝑩𝑷𝑪 
is an arc of a circle centred at A and 
lying between 𝑩𝑪 and 𝑩𝑸𝑪. If 𝑨𝑩 has 
length 𝟔 𝒄𝒎 then the area, in sq cm, of 
the region enclosed by 𝑩𝑷𝑪 and 𝑩𝑸𝑪 
is
समकोण त्रिभजु ∆𝑨𝑩𝑪  में BC कणण है.
BC को व्यास मानकर एक अर्णवतृ BQC
ख ींचा गया है जो त्र ींदु A से दरू है| भजुा
BC और अर्णव्यास BQC के   च में चाप
BPC है जजसके वतृ का कें द्र A है| यदद
𝑨𝑩 = 𝟔 𝒄𝒎  है तो BPC और BQC के
  च के के्षि का के्षिफल  ताइए.
a) 𝟗𝝅 − 𝟏𝟖  b) 𝟏𝟖  
c) 𝟗𝝅   d) 9

1
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In the given figure, four
identical semicircles are
drawn in a quadrant. 𝑿𝑨 =
𝟕𝒄𝒎. What is the area (in

𝒄𝒎𝟐) of shaded region?
दी गई आकृतत, चार समरूप
अर्णवतृो को एक वतृ्त के चतुर्ण
भाग में  नाया गया है| 𝑿𝑨 =
𝟕𝒄𝒎 है| छायाींककत भाग का
के्षिफल (𝒄𝒎𝟐 में) क्या है?
a) 70  b) 140 
c) 77  d) 84

2
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Let 𝑨𝑩 = 𝟒 𝒄𝒎 and tangent 

𝑩𝑫 = 𝟒 𝟑 𝒄𝒎. Then the area 
bounded by three semicircles as 
shown in the figure, in square 
𝒄𝒎, is:

ददया है 𝑨𝑩 = 𝟒 𝒄𝒎 और
स्पर्णरेखा 𝑩𝑫 = 𝟒 𝟑 𝒄𝒎 है|
आकृतत में ददए गए त नों
अर्णवतृों द्वारा घेरे गए के्षि का
के्षिफल ज्ञात करें|
a) 𝟒𝟖𝝅  b) 𝟐𝟒𝝅 
c) 16𝝅  d) 𝟏𝟐𝝅

3M2D (circle misc) d
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What is the circumference of the 
below circle given that AB is the 
diameter and 𝑿𝒀 is perpendicular 
to 𝑨𝑩?
न चे ददए गए वतृ्त की पररधर् क्या
होग , ददया गया है कक AB व्यास
है और 𝑿𝒀 के लीं वत है?
a) 𝟖𝝅 𝒄𝒎  b) 𝝅 𝟑𝟒 𝒄𝒎

c)
𝟑𝟒𝝅

𝟑
 𝒄𝒎  d) 𝝅

𝟑𝟏

𝟑
𝒄𝒎

M2D (circle misc) c



In the given figure, O is the 
center of the semicircle of 
diameter  𝟒 𝒄𝒎 . If ∠𝐀𝐏𝐁 =
𝟏𝟐𝟎°  then find the area of 
shaded region?
ददए गए धचि में, O अर्ण-वतृ का
कें द्र है जजसका व्यास 𝟒 𝒄𝒎 है|
यदद ∠𝑨𝑷𝑩 = 𝟏𝟐𝟎° है तो
छायाींककत भाग का के्षिफल क्या
होगा-
a) 𝝅 − 𝟑 b) 𝝅 𝟑

c)
𝟏

𝟐
𝝅 − 𝟑 d)

𝟐𝝅

𝟑
 − 𝟑
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In the figure, 𝑷𝑸𝑹𝑺 is a rectangle 
with PS equal to 1 cm. Two quarter 
circles are drawn with centres at P 
and Q. A circle is drawn touching 
both the quarter circles and one of 
the sides of the rectangle. Find the 
area of the shaded region:
दी गई आकृतत में PQRS एक आयत है
जजसमें PS की लम् ाई 1 cm है| P और Q
को कें द्र मानकर दो वतृ चतुर्ाांर्  नाये
गए हैं| दोनों चौर्ाईवतृ्तों और आयत की
एक भुजा को छूता हुआ एक वतृ  नाया
गया है. छायाींककत दहस्से का क्षेिफल पता
करो|
a)

𝟑𝟐

𝟏𝟏𝟓
 𝒄𝒎𝟐  b)

𝟏𝟑

𝟓𝟔
 𝒄𝒎𝟐 

c)
𝟏𝟔

𝟖𝟑
 𝒄𝒎𝟐  d)

𝟕

𝟐𝟎
 𝒄𝒎𝟐  

6
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In the given figure, 𝑨𝑫 = 𝟑. 𝟓,
𝑫𝑩 = 𝟏. 𝟓, 𝑩𝑪 = 𝟔 and 𝑪𝑨 =
𝟒. Circles are circumcircle of 
∆𝑨𝑪𝑫 and ∆𝑩𝑪𝑫, then ratio 
of area of smaller to that of 
the bigger circle is
दी गई आकृतत में, 𝑨𝑫 = 𝟑. 𝟓,
𝑫𝑩 = 𝟏. 𝟓, 𝑩𝑪 = 𝟔  और
𝑪𝑨 = 𝟒 है| वतृ्त ∆𝑨𝑪𝑫 और
∆𝑩𝑪𝑫 के पररवतृ्त हैं, तो छोटे
और  ड़े वतृ के के्षिफल का
अनपुात क्या होगा?
a) 2:3   b) 4:9
c) 3:4   d) 9:16

7M2D (circle misc) b



A circle is circumscribed by the 
quadrilateral which is made up by 
joining the mid points of a rectangle 
whose sides, 12 cm and 16cm. What 
is the area of the circle?
एक वतृ्त को एक चतभुुणज ने घेरा हुआ
है जो की ककस आयत के मध्य
त्र न्दओु को ममला कर  नाया गया है
जजसकी भजुाये 12 cm और 16 cm है|
वतृ्त का के्षिफल  ताए|
a)

𝟔𝟐𝟓

𝟐𝟔
𝝅 b)

𝟔𝟕𝟔

𝟐𝟓
𝝅 

c)
𝟓𝟕𝟔

𝟐𝟓
𝝅 d) Can’t be determined

8M2D (circle misc) c



Two circles with centres P and Q cut each other 
at two distinct points A and B. The circles have 
the same radii and neither P nor Q falls within 
the intersection of the circles. What is the 
smallest range that includes all possible values 
of the angle AQP in degrees?
कें द्र P तर्ा Q वाले दो वतृ्त एक दसुरे को मभन्न
मभन्न त्र न्दओुीं A तर्ा B पर काटते हैं| दोनों वतृ्तों
की त्रिज्या समान है और त्र ींदु P तर्ा Q एक दसुरे
वतृ्त के अींतगणत नहीीं आते हैं| कोण AQP के
सींभाववत मानों की न्यनूतम स मा क्या होग ?
a) Between 0 and 30   
b) Between 0 and 60 
c) Between 0 and 75   
d) Between 0 and 45

CAT 2007
9M2D (circle misc) b



11

M 2D Maxima & minima:
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The perimeter of a square, a 
rhombus and a hexagon are 
same. The area of square, 
rhombus and hexagon be 𝒔, 𝒓, 𝒉 
respectively then which of the 
following is correct?
एक वगण, एक समचतुभुणज और
एक षट्भजु का पररमाप  रा र
है| और इनके के्षिफल क्रमर्:
𝒔, 𝒓, 𝒉 हैं| तो तनम्न में से कोनसा
ववकल्प सही है?
a)  𝒓 > 𝒔 > 𝒉        b) 𝒔 > 𝒉 > 𝒓     
c) 𝒉 > 𝒔 > 𝒓     d) Can’t say

13M2D (misc) c
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A piece of wire 132 cm long is bent 
successively in the shape of an 
equilateral triangle, a square and a 
circle. Then area will be largest in 
shape of
132 से. म . लम् े एक तार के टुकड़े
को एक सम ाहु त्रिकोण, एक वगण और
एक वतृ्त के आकार में मोड़ा जाता है l 
 ताइए कौन-से आकार में के्षिफल
स से अधर्क होगा ?
a) Circle b) Equilateral Triangle
c) Square d) Equal in all the shapes

SSC CGL T2 30 Nov 2016M2D (misc) a
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If the circumference of a circle is equal 
to the perimeter of square, then 
which one of the following is correct?
a) Area of circle=Area of square 
b) Area of circle ≥ Area of square
c) Area of circle>Area of square 
d) Area of circle<Area of square
अगर ककस वतृ्त की पररधर् एक वगण के
पररमाप के समान है तो तनम्न में से
कौनसा सत्य है?
a) वतृ्त का के्षिफल=वगण का के्षिफल
b) वतृ्त का के्षिफल≥वगण का के्षिफल
c) वतृ्त का के्षिफल >वगण का के्षिफल
d) वतृ्त का के्षिफल<वगण का के्षिफल

SSC MTS 12 Jul 2022 S3M2D (misc) c
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What is the maximum area of a 
rectangle, the perimeter of which 
is 18 cm?
उस आयत का अधर्कतम क्षेिफल
ककतना होगा जजसका पररमाप
18cm है?
a) 𝟐𝟎. 𝟐𝟓 𝒄𝒎² b) 𝟐𝟎. 𝟎𝟎 𝒄𝒎²
c) 𝟏𝟗. 𝟕𝟓 𝒄𝒎² d) 𝟏𝟗. 𝟔𝟎 𝒄𝒎²

CDS 2010 IM2D (misc) a
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In the given figure, 𝑨𝑩𝑪𝑫 is a 
square whose side is 𝟒 𝒄𝒎. P is 
a point on the side AD. What is 
the minimum value (in cm) of 
𝑩𝑷 + 𝑪𝑷?
दी गई आकृतत में , 𝑨𝑩𝑪𝑫  एक
वगण है जजसकी भजुा 𝟒𝒄𝒎 है भजुा
AD पर p एक त्र ींदु है 𝑩𝑷 +
𝑪𝑷 का न्यनूतम मान क्या है?
a) 𝟒 𝟓  b) 𝟒 𝟒  

c) 𝟔 𝟑  d) 𝟒 𝟔

CGL 2017 T-2M2D (misc) a



There is a square field of side 𝟓𝟎𝟎 𝒎 length 
each. It has a compound wall along its perimeter. 
At one of its corners, a triangular area of the 
field is to be cordoned off by erecting a straight-
line fence. The compound wall and the fence will 
form its borders. If the length of the fence is 
𝟏𝟎𝟎𝒎, what is the maximum area that can be 
cordoned off?
500m भजुा वाला एक वगण है| इसकी पररधर् पर
एक दीवार है| इसके एक कोने पर एक त्रिभजुाकार
दहस्से को एक स र्  ाड़ द्वारा अलग ककया जाता
है| इस त्रिभजु की पररधर् इस  ाड़ एवीं दीवार
द्वारा  नाई गई है| अगर  ाड़ की लम् ाई 100m
है तो त्रिभजु का अधर्कतम के्षिफल पता करो|
a) 𝟐𝟓𝟎𝟎 𝒔𝒒 𝒎      b) 𝟏𝟎, 𝟎𝟎𝟎 𝒔𝒒 𝒎 
c) 𝟓𝟎𝟎𝟎 𝒔𝒒 𝒎      d) 𝟐𝟎, 𝟎𝟎𝟎 𝒔𝒒 𝒎 

18
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If three sides of a rectangular park 
have a total length 𝟒𝟎𝟎 𝒇𝒕, then the 
area of the park is maximum when 
the length of its longer side is 
अगर ककस आयताकार  ाग़ की त न
भजुाओीं की कुल लम् ाई 𝟒𝟎𝟎 𝒇𝒕 है
तो  ाग़ का के्षिफल सवाणधर्क होगा
ज इसकी  ड़ भजुा होग -
a) 100 m  b) 200 m 
c) 150 m  d) 180 m

19
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Square inside square:
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Triangle inside triangle:



In an equilateral triangle another 
equilateral triangle is drawn inside 
joining the mid-points of the sides of 
given equilateral triangle and the 
process is continued up to 7 times. 
What is the ratio of area of fourth 
triangle to that of seventh triangle?
ककस समभजु त्रिभजु की भजुाओीं के
मध्य त्र न्दओुीं को ममलाकर एक और
समभजु त्रिभजु  नाया जाता है और
इस कायण को 7  ार दोहराया जाता है|
चौरे् त्रिभजु और सातवे त्रिभजु के
के्षिफलों का अनपुात क्या होगा?
a) 256 : 1  b) 128 : 1 
c) 64 : 1  d) 16 : 1

22
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In the given figure, 𝑨𝑩𝑪𝑫 is a square. 𝑬𝑭𝑮𝑯 is
a square formed by joining mid points of sides of
ABCD. 𝑳𝑴𝑵𝑶 is a square formed by joining mid
points of sides of 𝑬𝑭𝑮𝑯. A circle is inscribed
inside 𝑳𝑴𝑵𝑶. If area of cirlce is 𝟑𝟖. 𝟓𝒄𝒎𝟐, then
what is the area (in 𝒄𝒎𝟐) of square ABCD?
दी गई आकृतत में, 𝑨𝑩𝑪𝑫 एक वगण है| 𝑨𝑩𝑪𝑫 की
भजुाओ के कें द्र त्र न्दओु को जोड़कर एक वगण
𝑬𝑭𝑮𝑯  नाया गया है| EGGH की भजुाओ के कें द्र
त्र न्दओु को जोड़कर एक वगण 𝑳𝑴𝑵𝑶  नाया गया
है| एक वतृ को वगण 𝑳𝑴𝑵𝑶 में अींककत ककया गया
है| यदद वतृ्त का के्षिफल 𝟑𝟖. 𝟓𝒄𝒎𝟐 है, तो वगण
𝑨𝑩𝑪𝑫 का के्षिफल (𝒄𝒎𝟐 में) क्या होगा?
a) 𝟗𝟖   b) 𝟏𝟗𝟔 
c) 𝟏𝟐𝟐. 𝟓  d) 𝟏𝟕𝟏. 𝟓

23
SSC CGL T2 20 Feb 2018M2D (misc) b



24
SSC CHSL, 14 Oct 2020 S2

In the given figure , the ratio 
of the area of the largest 
square to that of the smallest 
square is: 
दी गई आकृतत में स से  ड़े
वगण के के्षिफल और स से छोटे
वगण के के्षिफल का अनपुात है:
a) 𝟒: 𝟏  b) 𝟐: 𝟏
c) 𝟑: 𝟏  D) 𝟐: 𝟏

M2D (misc) a



The figure below shows two concentric 
circles with centre O. 𝑷𝑸𝑹𝑺 is a square 
inscribed in the outer circle. It also 
circumscribes the inner circle, touching 
it at points B, C, D and A. What is the 
ratio of the perimeter of the outer circle 
to that of polygon 𝑨𝑩𝑪𝑫?
तनम्न आकृतत में कें द्र O वाले दो
समकेन्द्रीय वतृ्त हैं| 𝑷𝑸𝑹𝑺 एक वगण है
जो  ाहरी वतृ्त के अींतगणत है| यह वगण
छोटे वतृ्त के चारों तरफ है जो वतृ्त को
त्र न्दओुीं B, C, D एवीं A पर स्पर्ण करता है|
 ाहरी वतृ्त की पररधर् एवीं  हुभजु 𝑨𝑩𝑪𝑫
की पररमाप का अनपुात ककतना है?
a)

𝝅

𝟒
  b)

𝟑𝝅

𝟐
  

c)
𝝅

𝟐
  d) 𝝅

25
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